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2% F1E 201549)J15H
1 BFUMBA Vs 5 I iREkiR
A= =
FEFIHRA [ IRERES I IRERES FEFIHRA
it : K it : R
M iz M 7g:
x| R | |y |mm | e | ex | m | e w20 | M
1 WAl 7 ANT | +2 | -150 [ri] ANT | +2 | -150
2 |Fitl & 6Cx -2 300 oy 6Cx -2 300
3 | KAl & 2H +1 | 140 oy 2NT -1 100 6
4 |8l it 4H = 620 1t S5Hx -1 -200 13
5 |FEitl & 4S -1 -100 [£3] 4S -1 -100
6 | KAl & 3NT | +1 | -630 oy 3NT = -600
7 | NBl & 4H +2 | -680 oy 3NT = -600 2
8 (Y&l db 2S +1 140 1t 2S = 110 1
DATUM%tit R
BFUENEA [~ REkER 7] 14 | 9
/ -18 / -29 &it 14 9
/ 29 / 18 V.P. 12.05 | 7.95
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2 FHlIEm VS 1 BFISRA
A= =
SRYIRERD FEFIBA FEFIBA SRYIRERD
it : K it : R
B 7 : [EZj 7
x| R | |y |mm | e | ex | m | e w20 | M
1 Wkl & 2H = 110 [£3] 2H +1 140 1
2 |Fibl 7 4H +1 | -450 R 4H +1 | -450
3 | KAl E 4S = 420 [£3] 4S +1 450 1
4 | NBl E 58 = 650 1t 6D = 1370 12
5 |FEitl & 3NT = 600 [£3] 3NT | +1 630 1
6 | KAl & 5H = -650 oy 4H = -620 1
7 | NBl A& 3NT -1 100 [ri] 5D = -600 12
8 [XWELl mE& 6NT = 990 [£3] 6NT = 990
DATUM&it R
Rl BFUSNEA 7] 12 | 16
/ 36 / 25 &it 12 | 16
/ -25 / -36 V.P. 8.33 | 11.67
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3 BRBF VS 2 Yl
= A=
ELL SRYIEERD SRYIEERD ELL
it : K it : R
M iz M 7g:
x| R | |y |mm | e | ex | m | e w20 | M
1 WrEl & 3C -1 50 oy 3C = -110 4
2 |FEitl A 4S +1 | -450 [ri] 4S = -420
3 | FHKAL 1t 4H = 420 [£3] 5Dx = 550 4q
=1 i 2S = -110 oy 1H = -80
5 |Fitl & ANT | +1 | 120 R ANT | +1 | 120
6 | &AMl i1t 2S -3 | 150 [ri] 2NT = -120 1
7 | NBl & 1NT = -90 [ri] 2H = -110 1
8 (Y&l db 3NT -4 | -200 [£3] 4Sx -1 -100 3
DATUM&it R
BRHEF I -] 5 | 10
/ -8 / -8 &it 5 | 10
/ 8 / 8 V.P. 7.95 | 12.05
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4 RERB#R VS 3 BRBF
= A=
RUE B ELEs ELL s RUEBHR
it : K it : R
M iz M 7g:
x| R | |y |mm | e | ex | m | e w20 | M
1 Wkl & 4Sx -5 |-1100] & 4H = -420 12
2 | il db 7NT = | 2220 [£3] 7NT = 2220
3 | FHKAL 1t 4Sx = 590 1t 4S = 420
4 (B8l F 3NT = -600 R 3NT | +2 | -660 2
5 |mdb] 4t 3H = | 140 | 4t | 4Hx | = | 790 12
6 | &AMl i1t 4S -3 | 150 1t 4S = 420 11
7 | NBl A& 4H = -620 [ri] 4H = -620
8 [XWELl mE& 2S +2 | 170 [£3] 4S = 420 6
DATUM&it R
REBR BRREF -] 7 | a1
/ -1 / 29 &it 7 | a1
/ -29 / 1 V.P. 1.03 | 18.97




(S T RiERSE

2% %5 5 20154915
5 [ REKEE VS 4 REPH
H= A=
I IREKES RUEE RUEEM I IREKES
it : R 3t : R
B3 . 7g: [EZj 7g:
x| R | |y |mm | e | ex | m | e w20 | M
1 |wx| =@ |[3NT| 1| 50 ] & | 3NT | 1 | -50
2 (FEib] 4t 2S | 1 |100] B | INT | +1 | 120 6
3 |7 & | 5Cx | 4 |-800] %= | 58S | +1 | -680
4 |\wg| %= | 4H | = | 620 %= | 48 | = | -620
5 [mEib] dt 38 | -2 |-200]| & 3D | -2 | 100 7
6 |7 %= | 4H | = | 620 %= | 4H | +1 | 650 | 1
7 |wa|l 4t | 4H | +1 | 650 | 4t | 4H | +1 | 650
8 |Wk| /5 | eD | = | 920 7/ | 6D | -1 | 50 14
DATUM&it R
I RERIR REB#H 8] 1 | 30
/ -46 / -25 &it 1 30
/ 25 / 46 V.P. 1.79 | 18.21




